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Questionl1:-What is the use of similar elements within a work called ?

A:-Gradient
B:-Movement
C:-Unity
D:-Variety

Correct Answer:- Option-C

Question2:-What design principle is used to create a path for the eye to follow ?

A:-Movement

B:-Unity

C:-Contrast

D:-Scale

Correct Answer:- Option-A

Question3:-Which principle involves using different elements to draw attention ?

A:-Harmony
B:-Repetition
C:-Emphasis
D:-Scale

Correct Answer:- Option-C

Question4:-Which principle refers to the arrangement of elements to create stability

A:-Symmetry
B:-Hierarchy
C:-Balance
D:-Rhythm

Correct Answer:- Option-C

Question5:-In 8 head theory the third head length is

A:-Just below the knee
B:-Waist line



C:-Head
D:-Chest line
Correct Answer:- Option-B
Question6:-The block-style figures are easily drawn with the support of
A:-Block Figure
B:-Flesh Figure
C:-Croqui
D:-Stick Figure
Correct Answer:- Option-D
Question7:-In a Stick figure the arm, leg and torso are all represented by
A:-Block line
B:-Flesh
C:-Circle
D:-Straight line
Correct Answer:- Option-D

Question8:-Which medium of colour is most suitable to render fall or fold in heavy
weight fabric ?

A:-Pencil

B:-Crayons

C:-Poster

D:-Water

Correct Answer:- Option-C
Question9:-There are _ types of fashion figures.

A:-4

B:-2

C:-3

D:-5

Correct Answer:- Option-C

Questionl10:-The Croquis is the most basic form of the figure, and it's
proportion are closest to real human body.

A:-12 head

B:-9 head

C:-8 head

D:-10 head

Correct Answer:- Option-C

Questionll:-Complementary colors are



A:-opposite colors on the color wheel.

B:-colors that are nice to each other.

C:-colors next to each other on the color wheel.
D:-part of the primary colors.

Correct Answer:- Option-A

Question12:-It is the quality of lightness or darkness in a colour.

A:-Hue
B:-Emphasis
C:-Shade
D:-Value

Correct Answer:- Option-D

Questionl13:-Which color is traditionally associated with jealousy or envy ?

A:-Blue
B:-Green
C:-Red
D:-Yellow

Correct Answer:- Option-B

Questionl4:-Warm colour are usually associated with what kind of emotion.

A:-Peace

B:-Laziness
C:-Passiveness
D:-Aggressive

Correct Answer:- Option-D

Questionl5:-Imagine that we have pure blue paint. If we make it lighter or darker
what are we changing.

A:-It's Hue
B:-It's tone
C:-It's Value
D:-It's contrast

Correct Answer:- Option-C

Question16:-What color would be added yellow in order to change it's tint ?

A:-Red
B:-White
C:-Blue
D:-Black

Correct Answer:- Option-B



Questionl7:-The colour of sadness

A:-Blue

B:-Green

C:-Yellow

D:-Brown

Correct Answer:-Question Cancelled
Questionl18:-What colour is most powerful ?

A:-Violet

B:-Blue

C:-Orange

D:-Red

Correct Answer:- Option-D
Questionl19:-  is a colour that has a darker value than the original hue.

A:-Tone

B:-Shade

C:-Contrast

D:-Tint

Correct Answer:- Option-B

Question20:- colour are two colours on either side of a complementary
colour on the colour wheel.

A:-Analogous

B:-Triadic

C:-Complementary

D:-Split complementary

Correct Answer:- Option-D
Question21:-An example of regenerated protein fibre is

A:-Sisal fibre

B:-Kapok fibre

C:-Ardil fibre

D:-Conex fibre

Correct Answer:- Option-C

Question22:-Which among the following spinning systems produces fasciated yarns
?

A:-Siro spinning
B:-Friction Spinning
C:-Air jet Spinning



D:-Rotor spinning

Correct Answer:- Option-C
Question23:-Easer bar is used in

A:-Climax Dobby

B:-Leno Weaving

C:-Terry weaving

D:-Eccles Drop box mechanism

Correct Answer:- Option-B

Question24:-The yarn produced by spinning system has the twist structure of

"Bipartite with helically twisted core and randomly formed wrappers".
A:-Dref Spinning
B:-Air jet Spinning
C:-Ring Spinning
D:-Rotor Spinning
Correct Answer:- Option-D
Question25:-The _ yarn can be produced by mixing dyed and undyed fibres.
A:-Melange yarn
B:-Boucle yarn
C:-Gimp yarn
D:-Flake yarn
Correct Answer:- Option-A

Question26:-The number of threads in the longest float of a 20-end Brighton
honeycomb design is

A:-10

B:-9

C:-11

D:-20

Correct Answer:- Option-B

Question27:-Which of the following is not used as a carrier to dye Polyester with
Disperse dye ?

A:-Dichlorobenzene
B:-Dimethyl terephthalate
C:-Potassium bichromate
D:-O-phenyl phenol
Correct Answer:- Option-C

Question28:-According to the Pigment theory of colour, which of the following is a
secondary colour ?



A:-Red

B:-Green

C:-Blue

D:-Citron

Correct Answer:- Option-B

Question29:-An example of a cotton fabric made with fine warp and soft-spun and
lustrous weft is

A:-Quilts
B:-Matelasse
C:-Taffeta
D:-Limbric

Correct Answer:- Option-D

Question30:-Boiling in 5% Caustic soda completely dissolves fibre in a few
minutes.

A:-Linen

B:-Wool
C:-Polynosic Rayon
D:-Kapok

Correct Answer:- Option-B

Question31:-The smallest unit of commercial raw jute is known as

A:-Reed

B:-Bave

C:-Knot

D:-Tow

Correct Answer:- Option-A

Question32:-The approximate density of Cotton fibre is grams per cubic
centimetre.

A:-1.04
B:-2.56
C:-0.64
D:-1.54
Correct Answer:- Option-D

Question33:-Among the following types of silk fibres, the one with the lowest fibroin
content is

A:-Mulberry silk
B:-Tassar Silk
C:-Muga Silk



D:-Eri Silk
Correct Answer:- Option-A

Question34:-A warper's beam contains 12000 yards of warp wound on it. The
number of ends in the warp is 420 and the weight of the full beam is 370 pounds. If
the weight of the empty beam is 70 pounds; the beam count will be

A:-12s
B:-30s
C:-24s
D:-20s

Correct Answer:- Option-D

Question35:-The count of the two-fold cotton yarn composed of 24s and 40s singles
will be

A:-15s
B:-32s
C:-12s
D:-20s
Correct Answer:- Option-A

Question36:-Which stitch is used to join two folded edges or to join one folded edge
to the flat surface ?

A:-Back stitch

B:-Diagonal stitch

C:-Slip stitch

D:-Running stitch

Correct Answer:- Option-C

Question37:-Which stitch is used to finish raw edge either single or double layer to
prevent from fraying ?

A:-Over casting

B:-Stem

C:-Chain

D:-Bullion

Correct Answer:- Option-A

Question38:-Which material is used for kashida ?

A:-Jute
B:-Linen
C:-Wool
D:-Nylon

Correct Answer:- Option-C



Question39:-Kasuti comes from the state of
A:-Karnataka
B:-Gujarat
C:-Punjab
D:-Kerala
Correct Answer:- Option-A
Question40:-Which embroidery is used in Utter Pradesh ?
A:-Phulkari
B:-Banjara
C:-Pachis
D:-Chikankari
Correct Answer:- Option-D
Question41:-Which embroidery is famous in West Bengal ?
A:-Kantha
B:-Phulkari
C:-Chikankari
D:-Aari
Correct Answer:- Option-A
Question42:-Which stitch is used for eyelet hole ?
A:-Lazy daisy
B:-French knot
C:-Button hole stitch
D:-Bullion knot
Correct Answer:- Option-C
Question43:-The stitch that can be used to decorate the edges
A:-Blanket stitch
B:-Spider stitch
C:-Bullion stitch
D:-Long and Short stitch
Correct Answer:- Option-A

Question44:-While stitching hand stitches which tool is used to protect right hand
middle finger ?

A:-Finger shield
B:-Thimble
C:-Needle cushion
D:-Hand cover



Correct Answer:- Option-B

Question45:-Which stitch is substitute for machine stitch ?

A:-Back stitch

B:-Running stitch

C:-Satin stitch

D:-Chain stitch

Correct Answer:- Option-A

Question46:-A very short period fashion can come and go in a single season is

A:-Style
B:-Fad
C:-Trend
D:-Classic

Correct Answer:- Option-B

Question47:-FDCl is

A:-Fashion Designing Council of India
B:-Fashion Development Council of Inda
C:-Fashion Design Council of India
D:-Fashion Event Design Council of India
Correct Answer:- Option-C

Question48:-Rajasthan Fashion Week, a grand and royal event which began in

A:-2016
B:-2002
C:-2012
D:-1998

Correct Answer:- Option-C

Question49:-A small shop selling fashion clothes or accessories is called as

A:-Shop
B:-Boutique
C:-Mall
D:-Textile

Correct Answer:- Option-B

Question50:-Symbol, name, associated with certain product characteristics like
price, styling, fit and quality, prestige is

A:-Brand
B:-Croqui
C:-Boutique



D:-Accessories
Correct Answer:- Option-A

Question51:- that never become completely obsolete, but instead remain
more or less accepted for an extended period.

A:-Classic

B:-Fad

C:-Fashion

D:-None of these
Correct Answer:- Option-A

Question52:-A person who facilitates conversion of inspiration into design uses
technology to conceptualise and address the planning, production, promotion and
distribution of product in the fashion industry, to meet the needs and demand of a
costumers is.

A:-Fashion designer
B:-Fashion illuster
C:-Production manager
D:-Fashion merchandiser
Correct Answer:- Option-D

Question53:-Whose responsibility for designing window displays, arranging store
merchandise, creating props and accent, organizing clothing placement, styling
mannequins and spear heading marketing compaign ?

A:-Interior Designer

B:-Visual Merchandise Designer

C:-Fashion Designer

D:-Set Designer

Correct Answer:- Option-B
Question54:-  is the style or styles most popular at a given time.

A:-Fad

B:-Design

C:-Fashion

D:-Accessories

Correct Answer:- Option-C

Question55:- are retail outlet that share a brand and central management,
and usually have standardized business method and practices.

A:-Chain store
B:-Department store
C:-Unit Store

D:-All of these



Correct Answer:- Option-A

Question56:-How many stages are there in Fashion Cycle ?

A:-4
B:-5
C:-6
D:-7

Correct Answer:- Option-B

Question57:-Which stage of fashion cycle is known as the plateau of fashion cycle ?

A:-Introduction

B:-Rise

C:-Culmination
D:-Obsolescence

Correct Answer:- Option-C

Question58:-Which stage marks the end of a style when no one wants to invest in
that fashion or wear it ?

A:-Obsolescence
B:-Rise
C:-Decline
D:-Culmination

Correct Answer:- Option-A

Question59:-In which stage of fashion cycle retailers start the process of stock
clearance ?

A:-Decline
B:-Introduction
C:-Rise
D:-Peak

Correct Answer:- Option-A

Question60:-Which among the following has the longest fashion cycle ?

A:-FADS

B:-FABS
C:-High-merchandise
D:-Classics

Correct Answer:- Option-D

Question61:-Which among the following lines seen in garments are suitable for a
person with tall and thin figure ?

A:-Vertical
B:-Curved



C:-Horizontal

D:-Dotted

Correct Answer:- Option-C
Question62:-Fashion Life-span is also known as

A:-Mass acceptance

B:-Fashion cycle

C:-High fashion

D:-Trend

Correct Answer:- Option-B
Question63:-Which colors are mostly used while designing mens wear ?

A:-Bright hues

B:-Subdued hues

C:-Pure hues

D:-Darker hues

Correct Answer:- Option-B

Question64:-Motives of chinar leaves and saffron flowers are mostly seen in the
costumes from which region of India.

A:-Goa

B:-Assam

C:-Karnataka

D:-Kashmir

Correct Answer:- Option-D

Question65:-Fashion term for stylings that are similar to original designer creation
but are mass produced with cheaper fabrics

A:-Basic
B:-Knock-offs
C:-Mass fashion
D:-Atelier
Correct Answer:- Option-B
Question66:-Shears should be kept in which position when not in use ?
A:-Towards the worker
B:-Closed
C:-Open
D:-Towards the opposite direction of the worker
Correct Answer:- Option-B

Question67:-Where should be the pins for pattern works should be placed ?



A:-Box

B:-Patten cupboard

C:-Pin cusion

D:-Pattern stand

Correct Answer:- Option-C

Question68:-Carry all sharp pointed tools or objects with the sharp end in which
position

A:-Downward

B:-Towards right
C:-Towards left

D:-Upward

Correct Answer:- Option-A

Question69:-The small protective cover made of metal, rubber or plastic which
protects the finger tip

A:-Bodkin

B:-Awl

C:-Gauge

D:-Thimble

Correct Answer:- Option-D
Question70:-Needle guard policy is also known as

A:-Needle Control System

B:-Needle Regulatory Policy

C:-Needle Safety Policy

D:-Needle Safety Precaution

Correct Answer:- Option-A
Question71:-The gold and silver thread Zari embroidery of India ?

A:-Kutch

B:-Baluchari

C:-Sanganeri

D:-Zardozi

Correct Answer:- Option-D

Question72:-Which region of India has been famous for its jamdanis since ancient
times ?

A:-Bengal
B:-Banaras
C:-Machilipatanam
D:-Gujarat



Correct Answer:- Option-A

Question73:-An equisite ancient craft of painted and printed fabric which has its
origin in Andra Pradesh

A:-Jhalar

B:-Kalamkari
C:-Madhupani paintings
D:-Bagu paintings
Correct Answer:- Option-B

Question74:-The activity or profession of producing information for promoting the
sale of commercial products of services

A:-Visual merchandising
B:-Publication
C:-Advertising
D:-Publicity

Correct Answer:- Option-C

Question75:-A computer generated floor plan that shows the selling floor with
merchandise in the best position

A:-Planogram

B:-Layout

C:-Computer aided marker plan
D:-Wardrob plan

Correct Answer:- Option-A

Question76:-What is the standard waist measurement for the 36 year old man ?

A:-30
B:-32
C:-34
D:-36

Correct Answer:-Question Cancelled

Question77:-In what pattern do we build up after completing with necessary seam
allowance and markings requirements ?

A:-Personal Patterns
B:-Production Pattern
C:-Graded Pattern
D:-Commercial Patterns

Correct Answer:- Option-B

Question78:-Which draping method is best for creating a sheath garment ?

A:-Induced Draping



B:-Natural Draping
C:-Contour Draping
D:-Shaped Draping
Correct Answer:- Option-C

Question79:-Who introduced the functional sewing machine 1814 ?

A:-Elias Howe

B:-John Greenough
C:-Joseph Madersperger
D:-John Howe

Correct Answer:- Option-C

Question80:-Which part of the sewing machine, located in the centre of flywheel
engages and disengages the stitching mechanism ?

A:-Feed dog

B:-Stop motion screw
C:-Stitch regulator
D:-Tension disc

Correct Answer:- Option-B

Question81:-What is an extension of one of two sections of a garment joined by a
seam, used to create volume of shape in the garment ?

A:-Facing
B:-Trimmings
C:-Plackets
D:-Fullness

Correct Answer:- Option-D

Question82:-What is the imaginary line that divides the stand and fall in a rolled
collar called ?

A:-roll line

B:-Fold line

C:-Fold roll

D:-Roll fold

Correct Answer:- Option-A

Question83:-Which of the following sleeve is not an example of a sleeve body
combination type ?

A:-Raglan
B:-Batwing
C:-Tulip

D:-Kimono



Correct Answer:- Option-C

Question84:-Pocket attached to the outside of the garment and may be cut in the
various shapes.

A:-Bound pocket

B:-Patch pocket

C:-Inseam Pocket

D:-Welt Pocket

Correct Answer:- Option-B
Question85:-Which seam does not fall under the category of flat seam ?

A:-French seam

B:-Counter seam

C:-Plain Seam

D:-Lapped seam

Correct Answer:- Option-A

Question86:-Several rows of gathering (3 or more) used for a decorative finish are
termed

A:-Ruffle

B:-Frills

C:-Shirring

D:-Godets

Correct Answer:- Option-C
Question87:-A zig zag narrow trimming used for embellishment the garment

A:-Ric Rac

B:-Bias Trimming

C:-Tassels

D:-Rope

Correct Answer:- Option-A

Question88:-Which statement is correct for starting the alteration of the bodice
pattern to create broad shoulder ?

A:-Slash from midpoint of shoulder down and across to the middle of armscye
B:-Slash from neckline down through bust area to waist.
C:-Slash across the pattern along bust dart fold line to center front.
D:-None of the above
Correct Answer:- Option-A
Question89:-What is reverse engineering ?
A:-Pattern made from individual measurement

B:-Pattern made from dress form.



C:-Pattern made from existing foundation pattern
D:-Pattern made from existing garment

Correct Answer:- Option-D

Question90:-What is the surface of velcro fasteners ?

A:-Hooks and eyes
B:-Hooks and loops
C:-Hooks and buttons
D:-Hooks and socket

Correct Answer:- Option-B

Question91:-Blood stain fall under which of the following ?

A:-Vegetable stain
B:-Mineral stain
C:-Animal related stain
D:-Miscellaneous stain

Correct Answer:- Option-C

Question92:-A simple "Triangle Shape" of care label indicates

A:-lroning

B:-Dry cleaning
C:-Bleaching

D:-All of these

Correct Answer:- Option-C

Question93:-Vegetable stains are removed by

A:-By soap

B:-By detergent

C:-By alkaline medium
D:-By acidic medium
Correct Answer:- Option-C

Question94:-Acceptance quality level label is given after inspection.

A:-In-process inspection
B:-Inspection of raw material
C:-Final inspection

D:-None of these

Correct Answer:- Option-C

Question95:-Inspection done by the operators or by its assistance during the
sewing operation before the garments are bundled is known as

A:-In-process inspection



B:-Flip checking
C:-Patrol inspection
D:-Final inspection
Correct Answer:- Option-A
Question96:-Inspecting activities of a particular area or line is known as
A:-Patrol inspection
B:-Pre-final inspection
C:-Flip checking
D:-In-process inspection
Correct Answer:- Option-A

Question97:- is a world-wide federation of standards bodies from some 110
countries.

A:-BIS

B:-AQL

C.-TQM

D:-ISO

Correct Answer:- Option-D
Question98:-"TQM" stands for

A:-Time Quality Management

B:-Total Quality Management

C:-Total Quantity Management

D:-None of these

Correct Answer:- Option-B

Question99:-The formal tests done to check the quality control of any product is
known as

A:-Audit

B:-Quality

C:-Quantity

D:-Accuracy

Correct Answer:- Option-A
Question100:-4-point procedure is used for

A:-Raw material inspection

B:-Final inspection

C:-In-process inspection

D:-None of these

Correct Answer:- Option-A



